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�� &DOFXODWLRQ�RI�FLUFXLWV�UHTXLUHG�EHWZHHQ�WUDQVLW�H[FKDQJHV

From Table 1 providing the trunks needed for the next three years, we get:

���������� ������WUXQNV�

�� &DOFXODWLRQ�RI�GHPDQG�JURZWK

The annual demand growth for PCM systems is found:

• annual demand growth for circuits:

������� �������FLUFXLWV�\HDU
 

• annual demand growth for transmission systems of 1920 channels:
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�� &DOFXODWLRQ�RI�FDEOH�SDUDPHWHUV

• Calculation of SYI��
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For L = o.1, T = 18 years, and  X = 0.035, we get:
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• Calculation of capital basic cost. Let
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be the SYI, taking into account only the replacement of cable. Then, we have

D� �SXUFKDVLQJ�FRVW� ×µ
F
����WD[HV���GLJJLQJ�FRVW���SODFHPHQW�RI�FDEOH�� ×µ

F

D 08 NP= ⋅ + ⋅ + + =600 157 600 0 2 750 80 122 2100. ( . ) . / 

• Calculation of capital incremental cost E

E� �SXUFKDVLQJ�FRVW� ×µ
F
���WD[HV���MRLQWLQJ�DQG�WHVWLQJ�� ×µ

F

E 08 SDLU NP= ⋅ + ⋅ + =720 157 720 0 2 15 122 1324. ( . ) . / / 
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�� (FRQRPLF�SHULRG�RI�SURYLVLRQLQJ

The provisioning period is given by

W
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�� 2SWLPDO�VL]H�RI�FDEOH

V�  �W�  ������� ��������  ������  ���SDLUVλ ⋅

Thus, the optimal size of cable should be ��ILEHUV.

�� &DOFXODWLRQ�RI�SUHVHQW�ZRUWK�RI�H[SHQGLWXUH�WR�LPSOHPHQW�WKH�ILEHU�RSWLFV�/LQN
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�� 3UHVHQW�ZRUWK�RI�H[SHQGLWXUHV�IRU�GRXEOH�VL]H�FDEOH
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Percentage variation with respect to minimum cost variation
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